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» Engineering

February 24, 2014

* Remediation

Mr. Rob Hill

Maryland Department of the Environment
Oil Control Program

1800 Washington Boulevard

Baltimore, Maryland 21230

« Consulting

Re: Groundwater Sampling Reduction Request
Sheetz Store #176
3842 Burkittsville Road
Knoxville, Maryland
MDE Case #2003-1758-FR
MDE Facility ID No. 1120

Dear Mr. Hill:

Environmental Alliance, Inc. (Alliance) has been contracted by Sheetz, Inc. (Sheetz) to complete the
environmental activities required by the Maryland Department of the Environment (MDE) for the above-
referenced site. On-going site activities include, quarterly sampling of the site POET system, quarterly
groundwater gauging of the entire monitoring well network, quarterly groundwater sampling of tank field
wells and select monitoring wells, annual groundwater sampling of the entire monitoring well network,
and annual sampling of area potable wells.

Based on the recent groundwater sampling event (February 2014) as presented in the March 1, 2014
Quarterly Sampling Report, the plume has been defined on-site and off-site to the north and east.

Current Sampling Outline

. Quarterly sampling of the POET system;

. Quarterly gauging of all monitoring and tank field wells;
Quarterly sampling of the tank field wells and the following monitoring wells (MW-4, MW-6,
MW-9, MW-11 (A, B and C), MW-13 (A and B), MW-14 (A, B and C), MW-15 (A, B and C),
MW-16 (A,B and C), MW-19 (A and B), and MW-20;
Annual sampling of the monitoring well network in May 2014;
Annual sampling of area potable wells in November 2014; and
Quarterly reporting.

Maryland Office: 1035 Benfield Boulevard, Suite H, Millersville, MD 21108  410-729-9000  410-729-9001 Fax
Corporate Office: 5341 Limestone Road, Wilmington, DE 19808 302-234-4400 302-234-1535 Fax www.envalliance.com




Groundwater Sampling Reduction Request

Alliance proposes the sampling requirements of monitoring wells with consistently non-detect or
minimal detection be eliminated or reduced from the current sampling scope of work as indicated below.

Results having non-detect or minimal detections for two years or more:

REQUEST:  Eliminate from sampling — monitoring wells MW-2, MW-3, MW-6, MW-7, MW-9,
MW-10, MW-12, MW-17(A, B, and C), and MW-18.

* Monitoring wells MW-10, MW-17(A, B, and C), and MW-18 are up gradient wells and have
indicated non-detect concentrations since 2008.

¢ Monitoring wells MW-2, MW-3, MW-6, and MW-7 have indicated non-detect concentrations for
at least two consecutive annual sampling events.

. Monitoring well MW-9 is in off-site well that has indicated non-detect concentrations for five
consecutive quarters.

. Monitoring well MW-12 has displayed minimal and non-detect methyl-tertiary butyl-ether
(MtBE) concentrations for the previous two annual sampling events.

Results having consistent or declining concentrations for more than three years (quarterly locations):

REQUEST:  Reduce from quarterly to semi-annual (May and November) sampling of monitoring
wells MW-4, MW-11(A, B, and C), MW-13(A and B), MW-14(4, B, and C), MW-19(A
and B), and MW-20.

¢ MIBE has either not been detected or has been detected at consistent/declining concentrations in
these monitoring well since at least 2010. Monitoring wells MW-19(A and B) and MW-20 have
indicated minimal or non-detect concentrations since installation in 2012.

Results having minimal detections or significant decreasing concentrations (quarterly locations):

REQUEST:  Reduce from semi-annual to annual (May) sampling of monitoring wells MW-15(A, B,
and C), MW-16(A, B, and C) and tank field wells TF-1, TF-3, and TF-5.

¢ Monitoring wells MW-15(A, B, and C) are off-site wells that have indicated non-detect or low
concentrations of MtBE since installation since at least 2010.
. Monitoring wells MW-16(A, B, and C) are off-site wells that have indicated non-detect or

decreasing concentrations of MtBE since installation in 2006.

¢ Tank field wells TF-1 and TF-5 have indicated non-detect concentrations for three consecutive
quarterly sampling events.

. Tank field well TF-3 has been generally non-detect since 2011.

Tank field wells reflected in surrounding monitoring well data collection:
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REQUEST:  Eliminate from sampling — tank field wells TF-2, TF-4 and TF-6.

+ Tank field well TF-6 is consistently DRY and typically does not yield enough groundwater to
collect a groundwater sample.

¢ Tank field wells TF-2 and TF-4 are located at alternate corners of the tank field covering the up
and down gradient patterns of groundwater flow on the site. Sampling of up gradient tank field
well TF-1, down gradient tank field well TF-3, and down gradient monitoring wells MW-5 and
MW-13(A and B) will be reflective of conditions of groundwater intercepting the tank field.

Potable Well Sampling Reduction Request

Currently, the following potable wells are sampled on an annual basis:

REQUEST:  Eliminate from sampling — 900 Rosemont Drive (Houck residence), 908 Rosemont Drive
(Lowry residence), 902 Rosemont Drive (Cassutto residence), 854 Jefferson Pike (McDonald’s
Corporation), 847-A Jefferson Pike (King residence), and 840 Jefferson Pike (Remsberg residence).

. Due to consistent non-detect concentrations in the potable wells listed above since at least 2007,
Alliance proposes sampling requirements be eliminated.
] The three closest residences to the site, namely 3839 Burkittsville Road (Kidwiler residence),

3833 Burkittsville Road (Sigler residence), and 3823 Burkittsville Road (Alexander residence)
would continue to be sampled on an annual basis.

SAMPLING REDUCTION REQUEST SUMMARY
As a summary, here is the proposed sampling outline:

Annual (May) PID readings from the tank field monitoring wells;

Semi-annual sampling (May and November) of monitoring wells MW-4, MW-11(A, B, and C),
MW-13(A and B), MW-14(A, B, and C), MW-19(A and B), and MW-20 for full suite VOCs
including oxygenates in accordance with EPA Method 8260; also analyze for TPH-DRO and
TPH-GRO in accordance with EPA Method 8015 in May only.

. Annual sampling (May) of monitoring wells MW-1, MW-5, MW-8, MW-15(A, B, and C),
MW-16(A,B, and C) and tank field wells TF-1, TF-3, and TF-5, for full suite VOCs including
oxygenates in accordance with EPA Method 8260 and TPH-DRO and TPH-GRO in accordance
with EPA Method 8015;

. Quarterly POET system sampling of 3842 Burkittsville Road (Sheetz store potable well) for full
suite VOCs including fuel oxygenates in accordance with EPA Method 524.2; and

. Annual (November) residential potable well sampling — 3839, 3833, and 3823 Burkittsville Road
for full suite VOCs including oxygenates in accordance with EPA Method 524.2.

A ENVIRONMENTAL
Page 3 * LLIANCE INC.



If you have any questions or further information is required, please contact Cari Finch at (410) 729-9000

ext. 5014. Thank you for your time.

Sincerely,
ENVIRONMENTAL ALLIANCE, INC.

Carianne A. Finch
Professional Engineer

Attachments:
Table 1 Groundwater Analytical Data Summary
Table 2 Potable Well Analytical Data Summary

c: Mr. David Dodson, Sheetz, Inc.
Mr. Rob Hill, MDE - Oil Control
Ms. Susan Bull, MDE - Oil Control
Mr. George Keller, Frederick County Health Department
Mr. John Grace, MDE-Water Supply Program

JAEAL files\PCG\Sheetz\2187_Knoxville\Correspondence\Regulatory\2187 Sampling Reduction Request 02.14.doc
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